)RR

9BLEFLHIAAN (A ~
A

SEENGEEY B
1 2 3 HREEH SR VEE
HEE B 7K AL
[$H T & 1] TS PEIERE | A=1+2+..N
{EHE T 22,031 3,782 21,041 46,854 815




D E F G H
e A% FHEE FHERTEER BB | RER
=B (FHEEE)
C=A+B D=E-C E=C+D G=E+F H=CIG
47,669 47,670 32,557 80,227]  59.42




9BEILMIRALGE ~ Th)E

R INCER A
1 2 3 4 B
gEEIr TR ek f iEE =S
GhsA T 5 1) oh B 5 (R hEERE | PEERE | PEEES [ A=1+2+..N
FIR A 2,897 1,714 2,705 1,591 8,907




e lE NGRS e
B C D E F G H
Ve e A% FHEEH FHERTEE BB | REER
=B (FRHEED
C=A+B D=E-C E=C+D G=E+F H=CIG
273 9,180 9,181 6,331 15,512  59.18




OBIFEAL AN (BH ~ ) R N2
= NS EIE T A B C
1 2 B TR PeEESY
TR, R
HLSE T R EP K& | A=1+2+..N C=A+B
75 A48 1,781 4,571 6,352 169 6,521




D E F G H
AR FHEE FHERTEEL BB | REER
S (FHEE)

D=E-C E=C+D G=E+F H=C/G
6,521 3,765 10,286 63.4




OBFAL AN (PH ~ Th) RS 5E A\ 152
A B C
B T 2R T2
GISE T E A=1+2+..N C=A+B
10,789 33,380 2,269 35,649

el




D E F G H
AR FHEE FHERTEEL BB | REER
S (FHEE)

D=E-C E=C+D G=E+F H=C/G
35,650 26,413 62,063  57.44




OBAE LI EAAN(FH - Th) RIS (F 1 A\ 152
R INCE L A B C
1 2 B e ) P
RIS BlSEM
GhsA T 5 1) oh B 5 (R th & | A=1+2+..N C=A+B
== 5,772 3,842 9,614 191 9,805




D E F G H
AR FHEE FHERTEEL BB | REER
S (FHEE)

D=E-C E=C+D G=E+F H=C/G
9,809 5,241 15,050  65.15




9BEILMIRAT (G - TH)RIERIEEANGS
B NG ZIE A B C
1 2 AR EHSVERE I R
BEF 50 YRR,
SRR SE T L ) HEERE | A=1+2+.N C=A+B
JEbAEE 3,070 3,523 6,593 148 6,741




D E F G H
AR FHEE FHERTEEL BB | REER
S (FHEE)

D=E-C E=C+D G=E+F H=C/G
6,742 3,194 9,936]  67.84




OBLFEA L AN (B ~ i) R IE R 5
[ INEE A B
3 B LA ZE Y
IR B S b Sawi
SRS A B PR RE | hEERE | A=1+2+..N
HARLR 3,204 1,131 2,551 6,886 238




D E F G H
e A% FHEE FHERTEER BEER B R
=B (FHEEE)
C=A+B D=E-C E=C+D G=E+F =CIG
7,124 7,124 4,396 11,520  61.84




OB AR (B ~ Th) R NG
[ - INCE 3 A B C
1 2 HREEE SRR TR
BIEF5S SRIEE
HBSE T E A PR R PEERE | A=1+2+..N C=A+B
kbt 1,360 1,21 2,574 31 2,605




D E F G H
AR FHEE FHERTEEL BB | REER
S (FHEE)

D=E-C E=C+D G=E+F H=C/G
2,605 1,627 4232 615




9BFIEHERAAT(H ~ ) R EERR e
S EINGENEY A B
1 2 3 ARUEH IR
AT FHHA R
yalE Y]l HEE R TR RS | A=1+2+..N
e 997 886 1,184 3,067 67




D E F G H
e A% FHEE FHERTEER BB | RER
=B (FHEEE)
C=A+B D=E-C E=C+D G=E+F H=CIG
3,134 3,134 1,728 4,862]  64.46




9BEILMIRAT (G - TH)RIERIEEANGS
B NG ZIE A B C
1 2 B TR FRZEH
SETE TR
Sl PEIERE | A=1+2+..N C=A+B
Hi AT 2,783 2,996 5,779 130 5,909




D E F G H
AR FHEE FHERTEEL BB | REER
S (FHEE)

D=E-C E=C+D G=E+F H=C/G
5,909 4,452 10,361  57.03




h)RERFEEAGEE B

9BLEFLHAAAN (A ~
B

SHEEAGEEL A C D
1 AR IR RS AR
e =%
SRR SE T A IR R A=1+2+..N C=A+B D=E-C
EHH 8,362 8,362 2,737 11,099 3




%

E F G H
FHAE FHEREEE RN LR
(FHHEE)
E=C+D G=E+F =CIG
11,102 10,420 21522 515




OBLEAL AN (FH - ) R IR (5 A 52
R INCE L A B C
1 2 BRI LA ZE Y e
GhsA T 5 1) T B ] (R th R&E | A=1+2+..N C=A+B
= YT 3,272 2,993 6,265 91 6,356




D E F G H
AR FHEE FHERTEEL BB | REER
S (FHEE)

D=E-C E=C+D G=E+F H=C/G
6,356 3,154 9,510  66.83




9BFIL AN GH - M) R B S A15E
S INGENEH A B C
1 AR IR RS
S FRIES
SRR SE T A HEEIRE | A=1+2+..N C=A+B
ERAT 1,212 1,656 2,868 51 2,919




D E F G H
AR FHEE FHERTEEL BB | REER
S (FHEE)

D=E-C E=C+D G=E+F H=C/G
2,919 1,799 4718 618




